CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: RANGE ROAD OVERLAY AND INTERSECTION WIDENING

PROJECT NO:

ST00-932

CONTRACTOR: HILLS MATERIALS CO., INC.

ORIGINAL CONTRACT AMOUNT:

\$90,428.45

CHANGE ORDER NO.: 1 & FINAL

DATE: 30 AUGUST 2000

LINE ITEM	DESCRIPTION	UNIT	CONTRACT	LINE DDICE		INSTALLED	INSTALLED	INCREASE/
HEN	DEBORN TON	CIVII	QUANTITY	UNIT PRICE	PRICE	QUANTITY	PRICE	(DECREASE)
1	MOBILIZATION	LS	1.00	\$3,400.00	\$3,400.00	1.00	\$3,400.00	\$0.00
	ADJUST MANHOLE RING & COVER	EA	4	\$120.00	\$480.00	4.00	\$480.00	\$0.00
3	ADJUST VALVE BOX	EA	1	\$20.00	\$20.00	1.00	\$20.00	\$0.00
4	UNCLASSIFIED EXCAVATION	CY	250	\$9.00	\$2,250.00	257.10	\$2,313.90	\$63.90
5	AASHTO T-180 SOIL TEST	EA	1	\$100.00	\$100.00	0.00	\$0.00	(\$100.00)
6	SALVAGE TOPSOIL	CY	126.5	\$7.50	\$948.75	126.50	\$948.75	\$0.00
7	MILL & REMOVE ASPHALT CONC. PAVEMENT, FULL DEPTH	SY	768.01	\$4.30	\$3,302.44	1,155.89	\$4,970.33	\$1,667.88
8	EDGE MILL & REMOVE 2 INCH ASPHALT, 6 FOOT WIDTH	SY	4290.71	\$1.05	\$4,505.25	0.00	\$0.00	(\$4,505.25)
9	REMOVE CONCRETE CURB AND GUTTER	FT	357	\$1.90	\$678.30	367.70	\$698.63	\$20.33
10	REMOVE CONCRETE SIDEWALK	S FT	96	\$0.80	\$76.80	267.75	\$214.20	\$137.40
11	AGGREGATE BASE COURSE	Т	260	\$14.00	\$3,640.00	243.48	\$3,408.72	(\$231.28)
12	ASPHALT CRACK SEALING	LB	2000	\$1.75	\$3,500.00	0.00	\$0.00	(\$3,500.00)
13	AC FABRIC OVERLAY, CLASS E, TYPE 2	SY	8555	\$4.00	\$34,220.00	9,656.67	\$38,626.68	\$4,406.68
	AC PATCHING, CLASS G, TYPE 1, 5"	SY	768.01	\$11.00	\$8,448.11	414.44	\$4,558.84	(\$3,889.27)
	CONCRETE CURB & GUTTER, TYPE B66	FT	300	\$11.00	\$3,300.00	310.70	\$3,417.70	\$117.70
	CONCRETE FILLET & PAN (REINFRCD), 6"	SY	97.2	\$43.00	\$4,179.60	82.08	\$3,529.44	(\$650.16)
	CONCRETE TEST SET	EA	2	\$109.00	\$218.00		\$218.00	\$0.00
	SODDING	SY	180	\$2.80	\$504.00		\$504.00	\$0.00
	COLD PLAST. MARKING, 4"	FT	1313		\$3,413.80		\$3,413.80	\$0.00
	COLD PLAST. MARKING, 24"	FT	24	\$12.60	\$302.40		\$302.40	\$0.00
	COLD PLAST. MARKING, ARROW	EA	9	\$210.00	\$1,890.00		\$1,890.00	\$0.00
	COLD PLAST. MARKING, MESSAGE	WORD	3	\$210.00	\$630.00	3.00	\$630.00	\$0.00
	HIGH VISIBILITY SCHOOL XING	EA	2	\$1,450.00	\$2,900.00	2.00	\$2,900.00	\$0.00
	REGULATORY SIGNS	EA	1	\$125.00	\$125.00	0.00	\$0.00	(\$125.00)
	STREET SIGNS	EA	2		\$74.00	0.00	\$0.00	(\$74.00)
	TRAFFIC CONTROL	LS	1	\$5,600.00	\$5,600.00		\$5,600.00	\$0.00
	INCIDENTAL WORK	LS	1	ψ1,000.00	\$1,500.00		\$1,500.00	\$0.00
	ACCESS RAMP	SF	60	· ·	\$222.00		\$821.33	\$599.33
-	REPAIR IRRIGATION SYSTEM	LS	0	¥ 1,0 1 0 1	\$0.00		\$1,370.25	\$1,370.25
30	DOUBLE YELLOW PAINT STRIPING	LF	0	\$0.31	\$0.00	2,646.00	\$820.26	\$820.26
	TOTAL				\$90,428.45		\$86,557.22	(\$3,871.23)
	IVIAL				ФУU,420.43		фо0,337.22	(φ3,0/1.23)

C.C.O. HISTORY INCREASE/(DECREA	ASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$90,428.45
	CCO #1		NET INCREASE/(DECREASE):	(\$3,871.23)
			ADJUSTED CONTRACT PRICE:	\$86,557.22
	PRIOR TOTAL =	\$90,428.45	CHANGE TO DATE:	(\$3,871.23)
CONTRACTOR:			DATE:	
ENGINEER:			DATE: 30 A	UGUST, 2000
MAYOR:			DATE:	
FINANCE:			DATE:	
CONTRACT TIME CHANGE +/-: 0 NE	W CONTRACT TIME: SAME			

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

\$90,428.45

PROJECT NAME: RANGE ROAD OVERLAY AND INTERSECTION WIDENING PROJECT NO: ST00-932

CONTRACTOR: HILLS MATERIALS CO., INC. ORIGINAL CONTRACT AMOUNT:

CHANGE ORDER NO.: 1 & FINAL 0 00-Jan-00

ITEM	DESCRIPTION	REASON FOR CHANGE
1	MOBILIZATION	NO CHANGE
2	ADJUST MANHOLE RING & COVER	NO CHANGE
3	ADJUST VALVE BOX	NO CHANGE
4	UNCLASSIFIED EXCAVATION	MEASURED QUANTITY
5	AASHTO T-180 SOIL TEST	MEASURED QUANTITY
6	SALVAGE TOPSOIL	NO CHANGE
7	MILL & REMOVE ASPHALT CONC. PAVEMENT, FULL DEPTH	MEASURED QUANTITY, ADDITIONAL 2" PATCHING/OVERLAY NECESSARY
8	EDGE MILL & REMOVE 2 INCH ASPHALT, 6 FOOT WIDTH	DELETED ITEM, EXISTING ASPHALT PAVEMENT ONLY TWO INCHES THICK
9	REMOVE CONCRETE CURB AND GUTTER	MEASURED QUANTITY
10	REMOVE CONCRETE SIDEWALK	MEASURED QUANTITY
11	AGGREGATE BASE COURSE	MEASURED QUANTITY
12	ASPHALT CRACK SEALING	DELETED ITEM
13	AC FABRIC OVERLAY, CLASS E, TYPE 2	MEASURED QUANTITY, ADDITIONAL 2" PATCHING NECESSARY
14	AC PATCHING, CLASS G, TYPE 1, 5"	MEASURED QUANTITY, REPLACED FULL DEPTH WITH 2" PATCHING/OVERLAY
15	CONCRETE CURB & GUTTER, TYPE B66	MEASURED QUANTITY
16	CONCRETE FILLET & PAN (REINFRCD), 6"	MEASURED QUANTITY
17	CONCRETE TEST SET	NO CHANGE
18	SODDING	NO CHANGE
19	COLD PLAST. MARKING, 4"	NO CHANGE
20	COLD PLAST. MARKING, 24"	NO CHANGE
21	COLD PLAST. MARKING, ARROW	NO CHANGE
22	COLD PLAST. MARKING, MESSAGE	NO CHANGE
23	HIGH VISIBILITY SCHOOL XING	NO CHANGE
24	REGULATORY SIGNS	NONE REPLACED, USED EXISTING

25	STREET SIGNS	NONE REPLACED, USED EXISTING
26	TRAFFIC CONTROL	NO CHANGE
27	INCIDENTAL WORK	NO CHANGE
28	ACCESS RAMP	MEASURED QUANTITY, ADDED ADITIONAL SIDEWALK TO ACHIEVE ADA GRADES
29	REPAIR IRRIGATION SYSTEM	NEW ITEM TO REPAIR FOREST SERVICE SYSTEM NOT ON PLANS
30	DOUBLE YELLOW PAINT STRIPING	NEW ITEM TO REPLACE STRIPING ADDED SINCE PLANS WERE DRAFTED

PREPARED BY:	DATE: 30 AUGUST, 2000

JOE JAGODZINSKI, PROJECT MANAGER